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PART A — (10 × 1 = 10 marks)  

Answer ALL questions. 

Choose the correct answer. 

1. ¦ÒÎ°¯À Gß£x J¸ ___________ AÔUøP. 

 (A) GsPÎß     

 (B) £s¦ 

 (C) Gs ©ØÖ® £s¦    

 (D) CvÀ Hx® CÀø» 
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 Statistics are ___________ statements. 

 (a) numerical    

 (b) quality 

 (c) numerical and quality    

 (d) none of these 

2. •uÀ {ø» ÂÁμ[PÒ ÷\P›US® •øÓ 

 (A) ÷£mi     

 (B) ©øÓ•P B´Ä 

 (C) ÷PÒÂzuõÒ    

 (D) ÷©÷» TÔ¯ AøÚzx® 

 Method of collecting primary data 

 (a) Interview     

 (b) Indirect Investigation 

 (c) Questionnaire    

 (d) All the above 

3. ö£õx ÷|õUS AmhÁønø¯ ___________ 
AmhÁøn GßÖ® AøÇUP»õ®. 

 (A) GÎø©¯õÚ (B) ]UP»õÚ 

 (C) ]Ó¨¦ ÷|õUS (D) uPÁÀ 
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 General Purpose Table is also called as 
___________ Table. 

 (a) Simple  (b) Complex 

 (c) Special Purpose (d) Informative 

4. ___________ ©v¨ø£ Áøμ£h® ‰»©õP 

©v¨¤h»õ®. 

 (A) \μõ\›   

 (B) Cøh{ø»  

 (C) •Pk   

 (D) Cøh{ø» ©ØÖ® •Pk 

 The value of ___________ can be estimated 
graphically. 

 (a) Mean  (b) Median 

 (c) Mode   (d) Median and Mode 

5. Cμsk •PkPÒ EÒÍ öuõh›À •PmiøÚ 

PnUQkÁuØPõÚ `zvμ® ___________. 

 (A) 2 Cøh{ø» – 3 \μõ\›     

 (B) 3 Cøh{ø» – 2 \μõ\› 

 (C) Cøh{ø» – \μõ\›    

 (D) \μõ\› – Cøh{ø» 
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 In a bimodal series, the formula to calculate mode 

is 

 (a) 2 Median – 3 Mean 

 (b) 3 Median – 2 Mean  

 (c) Median – Mean     

 (d) Mean – Median 

6. ¤ßÁ¸® ÂÁμ[PÎß \μõ\› GßÚ? 

 21, 30, 28, 40, 26, 34, 40, 9, 15, 57 

 (A) 40   (B) 42.5 

 (C) 30   (D) 30.25 

 What is the mean for the following data? 

 21, 30, 28, 40, 26, 34, 40, 9, 15, 57 

 (a) 40   (b) 42.5 

 (c) 30   (d) 30.25 

7. ¤ßÁ¸® ÂÁμ[PÐUS Ãa_ PnUQkP. 

 8, 10, 5, 9, 12, 11 

 (A) 8   (B) 9 

 (C) 10   (D) 7 
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 Estimate range for the following data : 

 8, 10, 5, 9, 12, 11 

 (a) 8   (b) 9 

 (c) 10   (d) 7 

8. ©õÖ ÂQuU öPÊ = 

 (A) 
X
σ

   (B) 100×
X
σ

 

 (C) 
σ
X

   (D) 100×
σ
X

 

 Coefficient of variation = 

 (a) 
X
σ

   (b) 100×
X
σ

 

 (c) 
σ
X

   (d) 100×
σ
X

 

9. ÷uõØÓ® £ØÔ¯ |õßPõ® Â»UP ÁºUP \μõ\› 

___________. 

 (A) umh AÍøÁPÒ (B) ÷Põmh AÍøÁ 

 (C) \μõ\› Â»UP® (D) PõÀ©õÚ Â»UP® 

 Fourth Moment about the origin is ___________. 

 (a) Kurtosis  (b) Skewness 

 (c) Mean Deviation (d) Quartile Deviation 
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10. J¸ \©a^º £μÁ¼À 

 (A) \μõ\› > Cøh{ø»  

 (B) \μõ\› > •Pk 

 (C) •Pk > Cøh{ø»  

 (D) \μõ\› = Cøh{ø» = •Pk  

 In a symmetrical distribution 

 (a) Mean > Median     

 (b) Mean > Mode 

 (c) Mode > Median    

 (d) Mean = Median = Mode 

PART B — (5 × 5 = 25 marks) 

Answer ALL questions, choosing either (a) or (b). 

Answer should not exceed 250 words. 

11. (A) Cμshõ® {ø» ¦ÒÎ ÂÁμ[PÎß 

‰»[PøÍ £mi¯¼kP. 

  List the sources of secondary data.  

Or 
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 (B) J¸ |À» ÷PÒÂzuõÎß ÷uøÁPÒ GßÚ? 

  What are the requirements of a good 
questionnaire? 

12. (A) J¸ AmhÁøn°ß £SvPøÍU SÔ¨¤hÄ®. 

  Mention the parts of a table. 

Or 

 (B) ÂÍUP¨ £h[PÒ ÁøμÁuØPõÚ ÂvPÒ 

¯õøÁ? 

  What are the rules for drawing a diagram? 

13. (A) J¸ |À» \μõ\›°ß £s¦PøÍ TÖP. 

  State the qualities of a good average. 

Or 

 (B) ¤ßÁ¸® ÂÁμ[PÐUS Cøh{ø»ø¯ 

PnUQkP. 

X 1000 1500 800 2000 2500 1800

f 24 26 16 20 6 30 

  Calculate the median for the following data. 

X 1000 1500 800 2000 2500 1800

f 24 26 16 20 6 30 
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14. (A) vmh Â»UPzvß {øÓPøÍ²® SøÓPøÍ²® 
ÂÍUSP. 

  Explain the merits and demerits of standard 
deviation. 

Or 

 (B) ¤ßÁ¸® ÂÁμ[PÐUS PõÀ©õÚ 
Â»UPzvøÚ PnUQkP. 

  480, 650, 370, 600, 310, 240, 1200, 1600, 780, 
570, 2100 

  Calculate the Quartile Deviation for the 
following data. 

  480, 650, 370, 600, 310, 240, 1200, 1600, 780, 
570, 2100 

15. (A) J¸ £μÁ¼ß ÷Põmh AÍøÁPÒ ‰»® }[PÒ 
GßÚ ¦›¢x öPõÒQÕºPÒ? 

  What do you understand by skewness of a 
distribution? 

Or 

 (B) RÌUPõq® ÂÁμ[PÐUS umh AÍøÁPÒ 
PnUQkP. 

  2, 4, 6, 8, 10. 

  Calculate Kurtosis for the following data : 

  2, 4, 6, 8, 10. 
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PART C — (5 × 8 = 40 marks)  

Answer ALL questions, choosing either (a) or (b). 

Answer should not exceed 600 words. 

16. (A) ¦ÒÎ°¯¼ß £s¦PøÍ ÂÍUSP. 

  Explain the functions of Statistics. 

Or 

 (B) ]Ö SÔ¨¦ ÁøμP : 

  (i) ©øÓ•P Áõ´ÁÈ Â\õμøn 

  (ii) Ag\À ÁÈ ÂÚõzuõÒ 

  (iii) öuõø»÷£] ‰»® Â\õμøn. 

  Write short notes on : 

  (i) Indirect and Investigation 

  (ii) Mailed Questionnaire 

  (iii) Telephone Enquiries. 

17. (A) ÁøP¨£kzu¼ß ÁøPPøÍ ÂÍUSP. 

  Explain the types of Classification. 

Or 

 (B) Áøμ£hzvß £À÷ÁÖ ÁøPPøÍ ÂÍUSP. 

  Explain the various types of Graphs. 
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18. (A) •Pmiß {øÓPøÍ²® SøÓPøÍ²® 

ÂÁõvUP. 

  Discuss the merits and demerits of mode. 

Or 

 (B) ¤ßÁ¸® ÂÁμ[PÐUS Tmka \μõ\›ø¯ 

PnUQkP. 

X 0-10 10-20 20-30 30-40 40-50

f 10 15 18 20 7 

  Calculate the arithmetic mean for the 

following data : 

X 0-10 10-20 20-30 30-40 40-50

f 10 15 18 20 7 

19. (A) RÌPõq® ÂÁμ[PÐUS Cøh{ø»°¼¸¢x 

\μõ\› Â»UP® PnUQkP. 

X 0-20 20-40 40-60 60-80 80-100

f 15 20 25 10 30 
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  Calculate mean deviation from median for 

the following data : 

X 0-20 20-40 40-60 60-80 80-100

f 15 20 25 10 30 

Or 

 (B) ¤ßÁ¸® ÂÁμ[PÐUS vmh Â»UP® 

PnUQkP. 

X 78-82 73-77 68-72 63-67 58-62

f 2 6 7 12 18 

X 53-57 48-52 43-47 38-42 33-37

f 13 9 7 4 2 

  Estimate the standard deviation for the 

following data : 

X 78-82 73-77 68-72 63-67 58-62

f 2 6 7 12 18 

X 53-57 48-52 43-47 38-42 33-37

f 13 9 7 4 2 
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20. (A) ¤ßÁ¸® £μÁ¾US PõºÀ¤¯º\Ûß ÷PõmhU 
öPÊ PõsP. 

X 100-110 110-120 120-130 130-140

f 4 16 36 52 

X 140-150 150-160 160-170 170-180

f 64 40 32 11 

  Estimate the Karl Pearson’s Coefficient of 
skewness for the following distribution. 

X 100-110 110-120 120-130 130-140

f 4 16 36 52 

X 140-150 150-160 160-170 170-180

f 64 40 32 11 

Or 

 (B) ¤ßÁ¸® ÂÁμ[PÐUS ö£Í¼°ß ÷Põmh 
AÍøÁU öPÊ PõsP. 

X 0-20 20-40 40-60 60-80 80-100

f 4 18 20 6 2 

  Calculate Bowley’s Coefficient of Skewness 
for the following data : 

X 0-20 20-40 40-60 60-80 80-100

f 4 18 20 6 2 

——————— 


